J

M6x10 YSB

@ www.starax.com.tr

STARA €

Mb5x7 YSB

4x

O
~
E-1

AN

M6x10 YHB

M5x10 YHB
J

\\\\ 4x

(

MOUNTING INSTRUCTIONS (RIGHT)

» GiZLi RAYLI DETERJANLIK (CIFT AGILIM) MONTAJ SEMASI (SAG)
« DETERGENT HOLDER WITH UNDERMOUNT RAIL (FULL EXTENSION)

X
33
33
50
50
50
50

@
0!
200
250
250
250
250

n

oode

S
S
S
S

ct Code

Produ
Wire |W
2441
2442

x
@©
=
@©
—
172}
O
2
=
(=]
x
[
=
@©
—
[ 72}
x
[
=
[
+—
[ 72}
"
<4}
=
o
(72
(%]
[<}]
o
o
@
x
[
=
@©
—
[ 72}

S
S
S
S
S

C-1




J
~N

M5x7 YSB

4x

@ www.starax.com.tr

.

/ %
LRVAL O Q
NN ,,.« \\
o DR N
AN
/ //r A\
NN \
= /’//&ﬂ%{ K
N

/ \

STARA €

.

~

M6x10 YHB

) 4x

\\\\N
E:

MOUNTING INSTRUCTIONS (LEFT)

51 28 51
T

+ o+ +
=

8l

X
33
33
50
50
50
50

@
200
200
250
250
250
250

« GiZLi RAYLI DETERJANLIK (CIFT AGILIM) MONTAJ SEMASI (SOL)
« DETERGENT HOLDER WITH UNDERMOUNT RAIL (FULL EXTENSION)

8¢

Product Code
Wire |Wooden
S
S
S
S
S
S

€5¢€ 4

S
S
S
S
S
S

x
@©
=
@©
—
172}
O
2
=
(=]
x
[
=
@©
—
[ 72}
x
[
=
[
+—
[ 72}
"
<4}
=
o
(72
(%]
[<}]
o
o
@
x
[
=
@©
—
[ 72}

C-1




